09.93326.000 | 04/12/06

DIt 7991 _M8=20
STARLOCK
272140
136120
QIN 28 KNP 330200

0003.¢
DINGGO BGx35(2x)

.

154810
264130
= 17741 75801.0
1 } QIN 933 M& x35
DIN 90214 98 (2]
§ { DIN 963 M8x30
DINI25 88 (24) . 00311.0
OIN 125 26 (i) _ L ] '
DIN 933°MBxIG thx]____—11 _2xIDINT2S 8
S 30505.0

{ 2% 10N 734 X G 1 7w

!\mo w0 £ |
""\\h )

{2x )OI 650 D6x 35
LN 0214 @8

DiN 934 ME

15604.0

DINGL Méx25 {2x]

{ carross Béx925

KNP 330200

420020

DIN 916 Mésds N |
SLTS-/67 120096 KT
W DIN 84 Méxd




N° schema

Intitulé

Référence

14701.0 LAMPE DE SIGNALISATION

70.14701.000

7 JEU DE PORTE 2510 SD ARRIERE 70.15481.120
8 VARIATEUR ESB 15PV 15606.0 70.15606.000
10 77051.0 GARDE-BUCHES 2200S/2500S/2620SC 70.77051.020
11 17152 DEFLECTEUR 70.76124.000
12 17153 DEFLECTEUR 2200 70.76125.000
17 17711 CLAPET 70.32007.000
18 17741 TIGE DE CLAPET 2200 70.32207.000
19 VSET2576CB SET DE VENTILATEUR 2576 70.73015.000
21 26043.0 VITRE 2100/2520/2500/2510 575X362X4 70.26043.000
22 26065.0 VITRE CERAMIQUE 2100 DOUBLE FACE 70.26065.000
23 4 P FIXATION DE VITRE 2100 70.26109.000
25 S27218.0 LOQUET 750/10-SERIE 70.27218.020
29 BOUTON THERMOSTAT 2110,2510,2210 70.33009.000
30 33020.0 BOUTON 2510S 70.33020.020
31 CONDUCTEUR D'AIR ARRIERE 70.37386.000
32 CONDUCTEUR D'AIR 2100/2200 70.37305.000
33 37901.0 REGLETTE D'AIR 2100 NOIR 70.37901.021
37 SUPPORT GRILLE DE DECENDRAGE 2100 56301.0 70.56301.000
38 61101.1 GRILLE DE DECENDRAGE 2100 70.61101.000
39 61301.0 #02 TIGE DE DECENDRAGE 2100 70.61301.000
41 68201.0 THERMOSTAT 716RU-9755 70.68201.000
44 SLT5-/01 MAIN FROIDE BAC A CENDRES3 70.27226.020
46 VNT2L AERATEUR GAUCHE 2200 70.73005.000
47 VNT2R VENTILATEUR 2200 DROIT 70.73006.000
49 10 p ENTRETOISE @16X@10.2X7.5 - SLP15 70.13617.000
72 10 pc RONDELLE A11 STARLOCK -64611.0 70.64611.000
75 10 p VIS DIN 963 M8x30 70.19733.000
51 10 p VIS DIN 7985 M8x20 70.20301.000
57 10 p BOULON DIN 933 M8x16 70.19311.000
67 10 p BOULON DIN 933 M8X40 70.19316.000
96 10 p VIS DIN 7516A M5x10 70.18001.000
59 10 p ROND. D7349 @6,4x317x3 70.17901.000
85 10 p VIS DIN 551 M8x10 70.17210.000
103 10 p BOULON DIN 933 M6x25 70.19306.000




	09-93326-000_2510SD-B
	09-93326-000_2510SD-B_P2
	Liste_pieces_en_cours2




